



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{6}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{6}\right)^3 + \frac{1}{5} = \frac{221}{1080}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{6}\right) = \frac{29}{150}$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} = \left(-\frac{77}{750}\right)$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{52}{125}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{31}{64}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} = \frac{29}{100}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{133}{320}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{2}\right) = 1$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} = \frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) = \frac{1}{24}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{4} = \left(-\frac{77}{108}\right)$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{11}{20}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{3} = \frac{206}{375}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{79}{150}$$